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7 100kN/ Mm% %% - ~ -[3mERZ D ~ - -| 100kN/mMi%#8Z % - ~ -[3mERZ D ~ -
Zzh s ~ Zzh st ~ Zzh s ~ Zh st ~
2 100kN/m#%#8 % % ~ -[3mEEZ D ~ -| 100kN/mMi%#8Z % ~ -[3mERZ D ~
Zzh sk 1.00 | 0.00 ~ 6.21 77.98 | =S | 000 ~ 0.00| 1.65 8.81 ZzhLs 1.00 | 5.00 ~ 740 77.98 | TS | 5.00 ~ 740 | 1.65 8.81
3 100kN/ Mm% %% ~ -[3mERZ D ~ -| 100kN/mMi%#8Z% % ~ -[3mERZ D ~
Zzh s 1.00 | 0.00 ~ 6.80 85.99 | =N | 000 ~ 680|179 9.58 ZzhLs 1.00 | 5.00 ~ 832 85.99 | =N | 500 ~ 832|1.79 9.58
p 100kN/ Mm% %% ~ -[3mERZ D ~ -| 100kN/mMi#%#8% % ~ -[3mERZ D ~
Zzh sk 1.00 | 000 ~ 6.79 85.92 | =N | 000 ~ 679|179 9.58 ZzhLs 1.00 | 5.00 ~ 831 85.92 | =N | 500 ~ 831 |1.79 9.58
5 100kN/m##z25| 1.00)| 000 ~ 0.13 101.95 |3m%Ex{BAB ~ -| 100kN/m%Z#Z%| 1.00 | 1059 ~ 1093| 101.95 |3mEBZS ~
zh sk 100013 ~ 792| 100.00 | Ths |0oo ~ 792|224 11.99 Zzh s 100|500 ~ 1059 100.00 | Zhs | 500 ~ 1093| 2.24 11.99
6 100kN/m#§Z25| 1.00)| 000 ~ 081 11211 |3m%x{B2 5 ~ -| 100kN/m%Z#Z2%| 1.00 | 1060 ~ 1293| 11211 |3mEBZS ~
Zzh s 1.00 | 081 ~ 860 100.00 | =S | 0.00 ~ 860|225 12.02 zh s 1.00 | 5.00 ~ 10.60 100.00 | =S | 6.00 ~ 1293|225 12.02
7 100kN/m#{Bx5| 1.00)| 000 ~ 082 11227 |3m%x{B25 ~ -| 100kN/M%ZE#BZ 5| 1.00 | 1053 ~ 1293 11227 |3mZE#BZ5 ~
ThLlst 100|082 ~ 861 100.00 | Fhist | 000 ~ 861|219 11.74 Thilst 100|500 ~ 1053 100.00 | Zhs | 500 ~ 1293| 2.19 11.74
g 100kN/mM#{Bx5| 100|000 ~ 0.76| 11140 |3m%x{BZ5 ~ -| 100kN/m# 25| 1.00 | 1061 ~ 1293| 111.40 |3mZEREZD ~
Zzh st 100|076 ~ 855 100.00 | #nds | 000 ~ 855|213 11.38 Zzh s 1.00 | 5.00 ~ 1061 100.00 | =S | 6.00 ~ 1293|213 11.38
9 100kN/m%#8Z % ~ -[3mERZ D ~ -| 100kN/mMi%#8% % ~ -[3mERZ D ~
zh sk 1.00 | 000 ~ 711 90.34 | =R | 000 ~ 0.00) 1.68 9.01 ZzhnLs 1.00 | 5.00 ~ 9.10 90.34 | =R | 500 ~ 9.10 | 1.68 9.01
100kN/m%#8 %% ~ ImERBZ D ~ 100kN/mM%#8 % 5% ~ ImEHEZDL ~
zh sk ~ Zh st ~ Zzh s ~ Zzh st ~
100kN/m%#8Z % ~ ImERBZ D ~ 100kN/m%#8 % % ~ ImEHEZDL ~
Zzh sk ~ Zh st ~ Zzh s ~ Zzh st ~
100kN/mM#%#8 %% ~ ImERBZ D ~ 100kN/mM%#8 % % ~ ImEHEZD ~
Zzh sk ~ Zh st ~ Zzh s ~ Zzh st ~
100kN/mM#%#8 %% ~ ImERBZ D ~ 100kN/mM%#8Z 5% ~ ImEHEZDL ~
Zzh s ~ Zzh st ~ Zzh s ~ Zh st ~
100kN/m%#8Z % ~ ImERBZ D ~ 100kN/mM%#8Z 5% ~ ImEHEZD ~
Zzh sk ~ Zh st ~ zh s ~ Zzh st ~
100kN/m%#8Z % ~ ImERBZ D ~ 100kN/mM%#8 % % ~ ImEHEZDL ~
Th s ~ Zh s ~ Zh s ~ Zh s ~
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